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1. Simplify the following expressions using fractions only. Show your working clearly .



(a)   	   (5 marks)


(b)  	   (5 marks)


















										


2. (a)	Given that , where x, y and z are integers. Find the values of x, y and z.	(5 marks)

(b)	Given that , where a is a constant. Find the values of x and y.                   	(5 marks)



























3. (a)  The lengths of the sides of a triangle are 3x, 6x, and 6x – 2 respectively.  If the perimeter is not greater than 43 units and the longest side is shorter than the sum of the two shorter sides, find the range of values of x. 	    (5 marks)
       





	













3.	(b)	In the diagram given below, the area of the rectangular pond is 180 m2 and the fully shaded area around the pond represents a path built around it.                      	
	(i)	Write down the length and breadth of the pond, in terms of x. 	(2 marks)
	(ii)	Form an equation in x and show that it reduces to .
			(3 marks)
x m
x m
Pond
Path
Path width = 15 m m
Pond Area = 180 m2
Path length = 20 m
















4. In the figure shown below, ABD and CBE are two straight lines. AE is parallel to CD. 

	Given that .
Find:9 cm
3 cm
4 cm
B
A
D
C
E
3.5 cm
46.57°

(i) Length BC.
(ii) Length CD.
(iii) Area of the triangle BDC.
(10 marks)


5. 
In the diagram, O is the centre of the circle PQRS.  TP and TR are tangents to the circle.  RTU = 38° and QP = QR.  SOQT make a straight line. Calculate    
	     (10 marks)
(a)  POR,

(b)  PSR,

(c)  PQU,

			
O
38°
U
R
P
S
Q
T













6. 
In the figure below, A, B, C, D and Q are points on the circumference of the circle and AB is a diameter of the same circle.  The length of AC is 8 cm.  The point P lies on the chords AC and DQ such that AP : PC = 3: 1 and DP is perpendicular to AC.  It is also given that CBA = 60° and the area of triangle ACD is 12 cm2.  Calculate 
(a) 
BAC,
(b) 
ADC,
(c) The length of chord DQ.
(10 marks)D


A
B
P
C
Q
60°
Given:
AB is the diameter of the circle
AC = 8 cm
AP : PC = 3 : 1
Area of ∆ACD = 12 cm2 

DPC = 90°

CBA = 60°


7. (a) 	Find the values of x, y and z equation of the following.       	  

  (5 marks) 

























7.	(b)	Find the variable, x and y of the following.

(5 marks)













8.	(a)	In the diagram, C is the midpoint of XY.  B is the point on YZ such that ZB = .    and  . Express, as simply as possible, in terms of p and q,
(i)	,	
(ii)	,	
(iii)	.								      (5 marks)
X
C
Y
B
Z
q
p
A

	


8. (b)	Given that  and  .
	A
B
C
D
45˚
45˚
45˚

Find magnitude and direction for the following vectors:
(i) 
(ii) 
(5 marks)





9. A dice is thrown three times.  What is the probability that:
	(a)	The dice produce a result smaller than four in each of the throw?
	(b) 	The total of the three throws is less than 5?
	(c)	All the three throw produce the same result?
(10 marks)




10.	(a) 	Simplify 


			log 64 • log4 11• log 3.           	(5 marks)		
	(b)	Given: log a + log b = log (a + b)
		Find the value of a in terms of b. (Hint: log a + log b = log ab)	    (5 marks)
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